Pik. = 1143,80; Rze = 122,30
PLP = 1139,86; KLP = 1147,74

Pk, = 1167,87; Rze = 122,74
PLP = 1165,71; KLP = 117003

Pik. = 1229,10; Rze = 122,31
PLP = 1225165 KLP = 1233,04
R = 10000

Pik. = 1260,46; Rze = 122,73
PLP = 1238,49; KLP = 126243

Pik. = 1300,80; Rze = 122,34
PLP = 1303,22; KLP = 1308,38

Pik. = 1336,79 Rze = 121,90
PLP = 1331,75; KLP = 134183

Pk, = 1375,00; Rze = 122,00
PLP = 1368,69; KLP = 138131

Pik. = 1400,00; Rze = 121,75
PLP = 1397,37; KLP = 140263

Pk, = 1418,93; Rze = 121,66
PLP = 1410,30; KLP = 142760

Pk, = 1490,00; Rze = 122,00
PLP = 1448,82; KLP = 14018

Pik. = 150,00; Rze = 122,07
PLP = 1499,37; KLP = 1502,63

Pk, = 1037,00; Rze = 122,62
PLP = 1532,82; KLP = 104118
R = 30000

Pk, = 1075,26; Rze = 122,02
PLP = 1570,80; KLP = 1079,72

Pk, = 1609,00; Rze = 121,84
PLP = 1602,46; KLP = 1607,04
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